
Plan for Today

Discuss 2.4-2.5



Learning Goals:


Be able to carry out a few steps of the Euler method and the improved Euler method by hand.
1.
Be able to carry out more using a computer algebra system.
2.
How can we obtain a more accurate approximation when using Euler’s method?
3.



Reminders-Announcements


Read the textbook!
1.
Quiz 1.5 (ungraded) available at 9.30 am today
2.
Quiz 2 (graded) this Thursday
3.
Review on Wednesday. Go over the worksheet and prepare questions. 4.

2.4 25 Euler's Method Improved Euler's Method

Algorithms for solving 1st order ODEs approximately
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